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ACIO Grade |l Executive 19th Feb 2021

[Participant 1D
Participant Name
est Center Name
Test Date 19/02/2021
Test Time : 12:00 PM - 1:00 PM
Subject ACIO Grade Il (Executive)

Section : General awareness Current Affairs
Q1 sefier et ae ¥ AT 3itweR Yok dwer (OPV) Fa dfee R aram o, 31 39 sk
TETTH ST "HIEF’ F T H ATHGIT a1 2 41?
Ans  of 1.13 30TE 2020
75 2. 06 5T 2020
25 3.06 31d¥er 2020
75 4.09 AT 2020

Question ID : 6009293662
Status : Not Answered
Chosen Option : --

Q2 WHTTT & Biowa 9 e F THEAT 19, 20 3R 21 ) Fa df=a frar a1?
Ans X 1,13 AT 2020

75 2.13 31der 2020
75 3.18 31d¥er 2020

o 4. 18 39TE 2020

Question ID : 6009293660
Status : Not Answered
Chosen Option : --

Q.3 In January 2020, at the age of 33, who became the world's youngest democractically
elected leader of a country?

Ans « 1. Sebastian Kurz, Austria
x 2. Emmanuel Macron, France
x 3. Jacinda Ardern, New Zealand

x 4. Alexandria Ocasio-Cortez, USA

Question ID : 6009293659
Status : Answered
Chosen Option : 1

s}
e +91-9205524028 ixam JeeT? O ixamBee.com

=Prepare 50% Faster



Q4 Qrafafaa frde Rerfdal #) 3ré.duee. (IPL) 2020 ¥ eRre 3% garT FaTC Faifts @i &
AR NG FA # sqafeya v

A. a:.w.rlgrar
B. f&R aaer
C. ATH 3T
D. 3z amx

Ans " 1.D,B,AC
W 2.ABDC
/5 3.C,B,AD
75 4.D,B,C,A

Question ID : 6009293672

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.5 2020 ¥ w31 R3qwor [EHERT F R F FeARIRT Fy= W AR ARl

(1) 2 STot BATSIT Y WTASTToreh ATH! & &1 H g [EPR AN FeleT T arm
(2) #7t. BeTEITe AHT FY FolT & &1 7 Tg TWEFR el [Ha1 147 8
39YFA FYA H A FlaT &1/ FlT F FAT I8/ B
Ans X1 a1 3RAE2
W 2. 13R28=t
75 3. Faer 1
75 4. a2

Question ID : 6009293665
Status : Answered
Chosen Option : 1

Q.6 57 2020 #, AT ERATREFH U5 FIH SRR (A1) & AT HAReT I FHA $
HE & T A fAgad gl arell ggelt Afger Hla g2

Ans x 1. ¥ IEE
X 2. S Qe
W 3 Ny
25 4. S Sl

Question ID : 6009293658
Status : Answered
Chosen Option : 4

s}
e +91-9205524028 ixam JeeT? O ixamBee.com

=Prepare 50% Faster



Q7 zost & v TEars Y Reereret At 3 o 2020 FT IRIeoR EHR TareT e ara §2
Ans X' 1. Ta 9T (8TER) @RT fafld g 39 g3

qf 2. FleH FI3ces (S9a3) GaRT falfld g foishet arg=r

25 3.9 R (R, B AR i) ganT faf@d & i e

£5 4. ATSH HR ST eI AR 137 T o

Question ID : 6009293655
Status : Not Answered
Chosen Option : --

Q8 = -1 3Rk T -2 # Few Afew dk T F M Ry v Fs (code) FT 37T FH TH
3R Tl

AT -1 (ITF FT ATH) T -2 (JETF F AA)
A. el BET 1. v raag e
B. TeATA &7 2. HEaEe e
C. af¥r o 3. & FUA HE A
D. geEa i 4. 7 I 37w AR

5 1.A-1,B-3, C-2, D-4
W 2. A1,B-2,C4,D-3
75 3.A-2,B-1,C-3, D-4

/5 4.A4,B-2,C-3,D-1

Question ID : 6009293669
Status : Answered
Chosen Option : 2

Q.9 Match List-1 and List-2 and select the correct answer by using the code given below the list.

List-1 (Company) List-2 (Founder)

A. SpaceX 1. Elon Musk

B. Virgin Galactic . Travis Kalanick

C. Twitter Inc. . Jack Dorsey

D. Uber . Richard Branson

o 1.A-1,B4,C3,D-2
/5 2.A-2,B-1,C-3, D-4
/5 3.A1,B-2,C-4,D-3

75 4.A-4,B-2,C-3, D-1

Question ID : 6009293671
Status : Answered
Chosen Option : 1

s}
e +91-9205524028 ixam JeeT? O ixamBee.com

=Prepare 50% Faster



Q.10 FgreaT el &y SE FHAA & AT, AAGT AT I HIAY U2 TFaratsll (GCOT) F
"TRIGT T AT [EHR Y F>TIa1 $r ot

Ans X 1. 1488t
o 2. 1508t
5 3. 1498t
X 41518

Question ID : 6009293661
Status : Answered
Chosen Option : 2

Q1 fegia 2019 3 Fae Z@aRT TR 1268 HiAreTT Feere TS & garT g afa wd
STttt Fer & forw freerssal & maror Fier w1 3w frae ast & fow sgrm g2

Ans X 1.15a¢
X 2.20a9

75 3.5a8
o 4 109

Question ID : 6009293664
Status : Answered
Chosen Option : 4

Q12 srye & i 3ifw e worw A arer g8 Py & o PR 3§ 3wl a1/ 3 wuw
qaaR/E?

(1) FTSTIT Y GUF TE HLEL 2000 F FRErT Reg F4Er (KRC) 7 A 307w B werw &
TS HT GFTa forar ATl

(2) Fafagfea #t 3y & weet F =i 37w BT Fer F1 98 = ik wgrerar wiiers (CAG),
HET TG FA (CEC) 3R FErr gaar g (CVC) 3fe & warer et 81

Ans o 1. Fae 1
75 2. %aer2
K 3 aar1aIRa&2
75 4.1 3R 2=t

Question ID : 6009293667
Status : Answered
Chosen Option : 1

Q13 3 Fapare war TR FY A TEER & o Rew Sfrw R # o it 2020 F s
aif¥e w1 fear m?

Ans " 1 UoR W
X 2. R g
X 3. o et
W 4. A shefae

Question ID : 6009293656
Status : Answered
Chosen Option : 3
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=Prepare 50% Faster



Q14 g a7 de= Ao (PMVVY) F aR F mRR@a da sl ar/ dsaa o §/ 82
(1) g% aR™s ARSI F AT v dere Ao 2
(2) TE T Staet AT @9 (LIC) garT gafera 3 waferd & sie §1
Ans O 1 Faer2
K2 aart kA2
o 3. 13k 2gEt
75 4. Fae 1

Question ID : 6009293668
Status : Answered
Chosen Option : 3

Q15 57 frar s & frw wg oreg 741 § e dga AR 3t 3feT-3RT5ae FaRd §T
et forfése wegt & i gar$ amn = i aegAfa 32

Ans X" 1. T i3 T TAYH (Air India Express)
o 2. & 59 (Travel Bubbles)
/X 3. a7 91k (Vande Bharat)

x 4. Ac-gIA-3C-31 (GetHomeltis)

Question ID : 6009293657

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q16 gy s 3ART & 46 § Tsgafa st oz & O F PEfafla f & Sl @/ 19 @ Fua
ek

(1) T 24 Tt Y 337 F TR a1 WHWEI (senators) H F T F
(2) & 78 Tt & 397 # WgFA Uo7 AN & waftw 397 & Ueeufa §
Ans X 1. 13 2emt
W 2 Fae2
K 3 aar1aRad2
25 4. Fae 1

Question ID : 6009293666
Status : Answered
Chosen Option : 4
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=Prepare 50% Faster



QA7 gy o grer €1 &, 17 R¥aT 2020 ) AT TG Hifde #F CMS-01 HIR 394E T
JaIYOT fHAT| 39 39T F Wey H ArAfaf@d # @ Fia qud sy w32

1. 399E HY F&IOT ITeT PSLV-C50 aRT W&t e aram am

2. 393E WIFA=d! FaheA & RAFaRa C-ds # Tfiia Ja1¢ vem= F3m|

3. I HRd &1 4091 TIR 3YIE & 5T 2013 A TINT AT 1T GSAT-12 & Ff F1 afaeanfa
Exon!

A1 3w T e T AT FIF FE S T TqA HfAT

(a) aer 1
(b) Faer 2
(c) Faer 3
(d) 1 3 2 =t

Ans X 1b
KZ.C
KS.a
W 4.d

Question ID : 6009293674
Status : Answered
Chosen Option : 2

Q.18 Nobel Prize is announced at an international level which is administered by the Nobel
Foundation in Stockholm, Sweden. Recently Nobel Prize winners for the year 2020
were announced. The recipients of Nobel Prize 2020 are

1. Reinhard Genzel and Andrea Ghez for the discovery of a supermassive compact
object at the centre of our galaxy.

2. Gérard Mourou and Donna Strickland for their method of generating high-intensity,
ultra-short optical pulses.

Select the correct answer using the code given below.
Ans " 1 Both 1and 2

75 2. Neither 1 and 2

K 3. 2 only
o 4. 10nly

Question ID : 6009293673
Status : Not Answered
Chosen Option : --

Q19 2011 &9 & s TorET AT HAFR WRT V5 FIFAE2020F A HareT
TATY 1 A1eTe FemEHR g e g

Ans  off 1. T35 (BRICS) ¥av 3ifth Hiardf Us 55w
25 2. 520 e 3T 1AW U3 3T
75 3. TS (SAARC) e 3Tt Az Us ST
75 4. SR Ao 3R 3eeT Agrae

Question ID : 6009293663
Status : Not Answered
Chosen Option : --

s}
e +91-9205524028 ixam JeeT? O ixamBee.com
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Q.20 Ryt 2020 #, THE A 42 # FR F a1 & TR o AR et i 37 To & 30T A AT
# ¥ Fla @1 v R9gs aila B o a1?

(A) e 3T SR 3R aiforsw (waee st giem) fadess, 2020

(B) e mearaer 3R F Far R framer (warareiaor 3T waton) wwsAlar, 2020
(C) 3maeTs TEY (Welterer) frdras 2020

(D) forermet 3 3R TH.vw. . (FeraH gAY He) WA T, 2020

Ans " 1. B,C3RD
W 2.AB3RC
75 3.AD3RC
5 4.AC3IRD

Question ID : 6009293670
Status : Answered
Chosen Option : 2

Section : General studies

Q1 g - sk g - 1w e AT @ gt F AR R v S F1 seEe =1F 58 seR #o9aa il

o - | (@) | g - I (e
A. fape 1. Taedr Sepia
B. ¥fifewr 2. % wRaT
C. fres g | 3. gfAw armer
D. 4. anfStrr T@Ior

Ans X 1. A-1, B-4, C-3,
X 2 A-3, B-2, C-1,

V3 A4, B-1, C-2,
X4 A-2, B-1, C-4,

Question ID : 6009293688
Status : Answered
Chosen Option : 3

Q2 grg ¥ yseuly ¥ dew ¥ MrAff@a Fyal @ = =1
1. IR & WU & Heg=ocd 53 # 3eo@ ¢ % ¥ & sdwn afFd wgufa & g aef
2. TSEE 39 9g WA @ F 9 9T a9 F e 97 7gur FEn
3. 9RT ¥ WAUR & 3g=oe 60 H Toguld T ASHALRT H FHFaAT F I H 30 g

T v e Ful § O FiF AUy Fuaa @ 227
Ans X FEer 1

v Faa 1 32

xX31,23R3

X4 Faer 2 AT 3

Question ID : 6009293694
Status : Answered
Chosen Option : 2
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Q3 Frarwemys #RT frw dor 3 3k frw Us & s §2
Ans X 1. =er, 3wy TR

2} 2. v affer g

W 3. Tocia dAifAe g

75 4. gooa 3 g8

Question ID : 6009293678
Status : Answered
Chosen Option : 1

Q4 5@ (If3) A 3MFR F IFANTT 7 74T FogT AT E?
Ans  of 1 3feTT

75X 2. Reaferm
X 3. Fwa
7 4. arsfya

Question ID : 6009293682
Status : Not Answered
Chosen Option : --

Q.5 Frome mor F @9y § SeateRa wua W RER F1

1. grzmer AT (1050 -1300 $F) Faiew & @l & & Fwlea 51

2. P FAT H YTINT Ve, TEE IR TEEE # wRAE TgE ARl # A 51w

3. wmﬁﬁwﬁﬁmmﬁmwmmw#m%ﬁw%l

4. FEIRET AT F e, mﬁﬁmmﬁﬂqﬁmaﬁaﬂm%mma:ﬁv,
aﬁagﬁmﬁ?w#mmﬁaamﬁmﬁmm|

T 717 3T Fu=r F T FiT GV HaT T 827

A XL Faer 1 3k 2
X2 raer 3 3T 4
X5 a2 3T 3
v 233

Question ID : 6009293691
Status : Not Answered
Chosen Option : --

s}
e +91-9205524028 ixam JeeT? O ixamBee.com
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Q.6 GST (seg v &1 =) F Feel &, TRoF v # awe F BT GSTN @ ==l Aves &
39EET F Gedt # FrAfia wust o fER w1
1. GST 07 o Afag € & 3/ & 7e¥ & A1d & TNeaed & OC 53 & & gowglieed =
$T THIEAT YEF B 2
2. GSTIN & e wefE Rew GST e W aE==F sid & g &ar ¥
3T FuAT F W FT B FuT w9 e

Ans X Faer 2
Xegdartikagr2

V1 3Rk 2 aar
K4 e 1

Question ID : 6009293686
Status : Answered
Chosen Option : 3

Q7 gz Arwala 5N & fFw Tow @ wafta §2
Ans X' 1. oedre

X 2. 3REs

W 3. 3cEs

X 4. 3nfzam

Question ID : 6009293680
Status : Not Answered
Chosen Option : --

Q8 QPrafafaa # ¥ Fla-a1 o7, FFamE! garT 39S o= areh Fae Hf RAfAa A F3 arer gger
T 82

Ans ‘,1_m
X 2. A aey
X 3. giamon
75 4. TS veRr

Question ID : 6009293675
Status : Answered
Chosen Option : 1

Q9 Rrers sifRrem GEEHIE St aTer gt STRERr et e T §2
Ans X 1 aTersT

75 2. e el

W 3. 5T 3ER

75 4. T emE

Question ID : 6009293679
Status : Not Answered
Chosen Option : --
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=Prepare 50% Faster



Q10 =t - | 3tk = - 1| 1 Fremmer ST 3ty Rt & i R o0 15 &7 39ART F33F FE Seat # TaA BT

T - | (o) | T - 1l (qE)
A. wifeer 1. FsareR
B. Trfonfar 2. 3remET
C. FHACH S.W
D. #ifdEd | 4. @fgEr

A of 1 A2, B-1, C-4,
X 2 A-4, B-3, C-2,
X3 A3, B-2, C-1,
X 4 A-1, B-4, C-3,

Question ID : 6009293690
Status : Answered
Chosen Option : 1

Q1 freg ¥ it TuTqwT T Y 75 A2
Ans X" 11946

o 21944

75 3.1948

54,1942

Question ID : 6009293677
Status : Answered
Chosen Option : 1

Q12 T T80T EET ¥ vy F e suat W AR w51
1. T TF gcd, UF WA ged FERITE HOmAT, o FEET Aaedy F ¥ F T ShAaT 68T A6
33 &7 gERE BRar o 3W TEaE A e 1757 @ AR ame w0 Afds feE A
Frar & == F
2. TeEATEr HEE T Hn iy ue-fseas e o

T 917 A+ FIT FT 39ANRT FIF Tl 3eal HT T4 H11

Ans X Faer 2
X 2 e 1
Xagar1sigad2
v i1 3t 2 aEr

Question ID : 6009293685
Status : Not Answered
Chosen Option : --

O
e +91-9205524028 ixam JeeT? O ixamBee.com
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Q13 oo & Hest & o & ¥ FF Ty wua w

1. sy anfearer el % SHw R F F g

2. sEIRAT BT S 2

3. T oF 7 & A F A/ 0T 2

4. T 99 Feg Y H sfie AR Feren FAeta @R FAT ST g

few 1T e FIT T 3TN FF Fal Ical H IIT Bl
Ans XK1 Faer 2

V21, 2 3t 4

xX31,23k3

X 4 Faer 1

Question ID : 6009293693
Status : Not Answered
Chosen Option : --

Q14 sizr 1) Prerfaf@a & @ fre 7Y &Y 39=rdr 872
Ans (135@0'”

75 2. 7w
/X 3. gEEx
K 4 deer

Question ID : 6009293683
Status : Answered
Chosen Option : 1

Q.15 g # Aq gear 3k ffeer $ve 33ar Fuet & dia dAaree i @Y w geanr o
T |

Ans X" 1 1782

5 2.1792
5 3.1779
o 41784

Question ID : 6009293676
Status : Answered
Chosen Option : 2

s}
e +91-9205524028 ixam JeeT? O ixamBee.com
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Q.16 Consider the following statements regarding the characteristics of a good source of energy.
. It would not do a large amount of work per unit volume or mass.
. It is easily accessible.
. It is easy to store or transport.
4. It is not economical.

Which of the statements given above are correct?

Ans X" 1. 1 and 2 only
« 2 2and 3 only
/X3 1,2,3and 4
/< 4. 3 and 4 only

Question ID : 6009293692
Status : Answered
Chosen Option : 2

Q17 Ryorer whame fPafaf@a #F @ FFra da ¥ weafRa 2
Ans X" 1 e

75 2. dsfHea

75 3. &R

W 4 3

Question ID : 6009293681
Status : Answered
Chosen Option : 4

A1 s & seEg # T § § P @ e efE A w2
1. 378TTeT
2. AETEENIT Sererra
3.997 W gl

fev 71U s FT FT 3ITWT FF FE Fca F TIAA F
e X113 3

X 2 Faer 2

X3 Fae 1

Vi1, 23R 3

Question ID : 6009293689
Status : Answered
Chosen Option : 4
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Q19 sl wfvemer 1 Prafafe st #F ¥ fras Toat 6 oftvg # del & srdes & waue
gaTRSE ¥
Ans X 1 gus
7K 2. el
X 3. arud

o 4 =t

Question ID : 6009293684
Status : Answered
Chosen Option : 4

Q20 st & Test F BT FyaT W RER F

1. 981 BIE FUT & a7 21T 2

2.9aTy H FUIT & AT HHYUT ¥l FE F garfee g gl

3. ITSrRIOT NS T FROT FA&T 2T Bl

4 gAY 9fder & 9ary 7 sgEwnst: 3, o A A F 9w Fa #)

IWIFT FYAT H T FlaT WA FIF Ter gle?

S AR I
X2 2 3T 4
X333k 4
X4 Fae 1

Question ID : 6009293687
Status : Answered
Chosen Option : 1

Section : Numerical aptitude

Q1 Jerr vk w1 Y 6 Rl G T Tl & STt AT I FrF A 9 et F A weheht ¥l AR
ST T AT FTA AT §, A FRT B FATCT 1 F AT fhcdel &l T 3TaTFar greil?

Ans  of 136 R
K273
X 3. 10fa
P R

Question ID : 6009293700
Status : Answered
Chosen Option : 1

s}
e +91-9205524028 ixam JeeT? O ixamBee.com
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Q2 Frafafea # & Fw Rees #1 A= wg7aa7 82
Ans X' 1497

75 2.6 -4
W 3.V18-4
75 4.428-5

Question ID : 6009293714
Status : Answered
Chosen Option : 1

Q3w gea 1 R, v 7o & TRHATT F TR | Joa F A F, 39 3 SAGA F FAT I §2
(7T T AT 22/7 §)

Ans X' 1.31:22

X 2.18: 11
W 31411
K 4.27:22

Question ID : 6009293710
Status : Answered
Chosen Option : 3

Q4 Sy R arem YT s R A 3 R B gany are Rt & aht 18 i o e A quia d

| —e=A zZary at T F7 HEA ~e- BZAWT & 7 FR A FE|
64

Uaar &1 A 31X B qaRT Us @ il 915 SR A Fol qEA1 A T,
afe; aar &1 A 3 B g@rt U @ d€l 318 SRI Hl FTAl AhHaR F
Amemwmaﬁmﬁmaﬁ@mﬁmg—qﬁmma?
K 1116
52,120
o 3112
K 4114

Question ID : 6009293702
Status : Answered
Chosen Option : 3

O
e +91-9205524028 ixam JeeT? O ixamBee.com
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S T AT AT A3

72 {oi-2x(z-13-)
Ans X 1. 575

X245

X 3725

v+ 1875

Question ID : 6009293695
Status : Answered
Chosen Option : 4

Q6 PrafRREAIsTaTTdE?

- ViR
X2 -2
X3 B>
Xaf2>3>P>%02

Question ID : 6009293706
Status : Answered
Chosen Option : 1

Q7 v e g=fl, aiffs 7 & THaRY g1 arell 10 Sfderd aifier samer a3 0 3 9 # %. 1331
& Sl &1 fordrer iy ar$ fRY v Y

Ans X" 1.1100 FUT
W 2. 1000 TT
75 3.1050 9T

X 4. 1132 3T

Question ID : 6009293697
Status : Answered
Chosen Option : 2

Q.8 qrarer 311 efterer & T Horer: 40 R 3T 50 Rreamer W9 ¥ =T o W A 30 whverd 3R
effarer @ 46 wfdrera A9 & farw| e 3 et & are For Qe &1 wrerer fraa ferera @ 872

Ans & 1. 67 gfaerd
75 2. 53 gfarrd
25 3. 49 yfaRrd
W 4. 619fea

90 o D
e +91-9205524028 ixam JeeT? O ixamBee.com

=Prepare 50% Faster



Q.9 grefte it Geftem Y AT 7 FEA e 7: 9 ¥ | 5 T T, T I 1 1 2 AT T Y
TAATA Y AT H
Ans X 1. 9a¥
X 2. 1498
W 373§
X 4.21a8

Question ID : 6009293696
Status : Answered
Chosen Option : 2

Q10 Rrafafaa yeea # woa Riee (?) F T 9 F4T 1= ART ?

et T
2 4 5 5

Ans 13
v 49__

33
XZ. 495
X349

13

Question ID : 6009293713
Status : Answered
Chosen Option : 1

Q1 e 5rer # T AT@ Y 71 10 km/hr §1 IR RT Y 90 2 km/hr §, @Y 19 4R & Sfadger 2.5
g # frael gt a7 T wadlt 87
Ans X" 1.32km
25 2.28 km
o 3.30km
25 4,24 km

Question ID : 6009293707
Status : Answered
Chosen Option : 3

Q12 3 oig T T JSET TG AT FY T Fa1 3 m A BT 4 m ¥ (e A A )
(1T T AT 22/7 )

Ans & 1 79 m?

75 2.33m?
75 3.45m?
o 4.63m?

Question ID : 6009293699
Status : Answered
Chosen Option : 3
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Q13 & ar§ enfor R a1 st & Rffes werew! garT e Feaial $ @& H e §1

o4 06

03 98

86 | 88 07

85 84 | 103 | 102

88 97 | 89 | 100 | 103 | 102

a¥ 2008 #, Heree R G@NT fgara Foaal i gear 7 Roa af it goren 7 fraar wfaera
(frehearar quitsh & wrarsran) i 3F8 g6 872

Ans X110
212
5 3.16
K 414

Question ID : 6009293703
Status : Answered
Chosen Option : 2

Q14 A 3iiv B frer et 1 Y 16 Rt o qu a0 Wt €1 3eelet vy Y g R 3t 4 Rt
& a1g A F14 815 3T ¥, B FI A F A Q0 F # 24 R oo §1 B q@n 3 1 F W,
30 F [ A et Rt &1 g w@on?

Ans X 1,34 fee
75 2.30 R
75 3.24 R
o 4327

Question ID : 6009293711
Status : Not Answered
Chosen Option : --

s}
e +91-9205524028 ixam JeeT? O ixamBee.com
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Q15 v Zehr 3o AR T 4 65 3 o7 ST B T ST Y & Forarel 1T T R B § Y 3 o
5 g ara &
At & ot g8 ¥, o 7w R qaw R et F wrelt oY Wl §7
Ans x 1.12
K 2.15
75 3.10

W 4.20

Question ID : 6009293698
Status : Answered
Chosen Option : 4

Q.16 The pie chart given here shows expenditures incurred by a family on various items
and their savings, which amount to Rs. 8,000 in a month.

Study the chart and answer the question based on the pie chart.

Housing, 1057
Food, 120¢

Education , 30°

How much more amount is spent on food than on housing?
Ans X" 1 Rs. 1,000

o 2.Rs. 2,000
75 3.Rs. 2,500
75 4.Rs. 3,000

Question ID : 6009293705
Status : Not Answered
Chosen Option : --

Q17 3137 1 3, oI & AT & 20 FFAera AT 1 I 7 AckeT, TH & AT @ Rrerey wfarera
&2
Ans  of 1 1666
25 2.20.10
75 3.19.25
/X 4.18.75

Question ID : 6009293712
Status : Answered
Chosen Option : 1
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Q18 ga oy =¥ 3r9=it a3t 7 5/6 ST 30 TFARA AT TR AT AN AY FY FA FET TW A4AT| FHH
THIT ATH FhIIT FATE ?

Ans X 1.22.5 gfaRrd
W 2. 25 9fea
25 3.27.27 gfarerd
75 430 fdera

Question ID : 6009293701
Status : Answered
Chosen Option : 2

Q19 ggeht 9 srsrrsar wEam3it #1 sitwa FAT 2
Ans X" 1.10.1

W 2 1.1

75 3.10.77

X 4.11.33

Question ID : 6009293708
Status : Not Answered
Chosen Option : --

Q.20 A, B 7T C % AR & FT §1 F FHA: 45000 FT, 36000 TIY, 54000 FT foraer w7t &l
FFAW: 4 79, 3 79 qUT 2 ¥ aF WPIGR) & & §1 Ffe 97 7 B 7 Rewm 1800 Fu &, at g
sy forcrarT 2

Ans  of 1 6600 T
75 2.6000 &2
75 3.7000 T
75 4.7200 &0

Question ID : 6009293709
Status : Answered
Chosen Option : 1

Section : Reasoning Logical aptitude

Q1 ey fAfRere g T A, “ADMONISH” #Y “DAOMINHS” & &9 # foram oirer &, & 3¢t e
stmeT #, “REPEATED” %! 5 yaR foram simeem?
Ans X' 1 ERPETADE
o 2. EREPTADE
75 3. EDATEPRE

/5 4. REEPTADE

Question ID : 6009293716
Status : Answered
Chosen Option : 2
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Q2 37 RBeeT g S & 7 wEe H weAEEs B (2) B wHEg & F seww (Ye)
F G F FHAT & (AT F GAET T D)1

?

-8

Question ID : 6009293727
Status : Answered
Chosen Option : 4

Three statements are followed by four conclusions numbered I, 1L, IIT and IV. You have to consider these statements to
be true, even if they seem at variance from commonly known facts. Decide which of the given conclusions logically
follow(s) from the given statements.

Statements:
1. All peacocks are ducks.
2. No duck is a kite.
3. All fowls are kites.

Conclusions:
Some fowls are peacocks.
No kite is a peacock.

No peacock is a fowl.

Some kites are peacocks.

Ans 1. Only conclusions I, II and IV follow
7< 2. Only conclusions I and II follow
« 3. Only conclusions IT and III follow
7< 4. Only conclusions I and IV follow

Question ID : 6009293731
Status : Answered
Chosen Option : 3
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Q.4 zfy BARK &' 2-1-18-11 & ¥ 7 Feag Bar A ¢, at WEAP &) e & 3 eag e
JTa?

Ans  of 1.23.51-16
75 2.22-4-1-15
X 3.21-7-1-18

X 4.24-6-2417

Question ID : 6009293722
Status : Answered
Chosen Option : 1

Q.5 & or¢ 3eer anpfaal o W, 3@ IHTA F1 77w FY rwed weet anpfay Dfafeara §1

Question ID : 6009293724
Status : Answered
Chosen Option : 1
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Q.6 Rrafafad vt # T v Reedt # & vea Rieg (?) & T W 31 areh &1 F g

16 60
9 42
16

Ans X' 1 52
X 2.18
X 35
W 4. 64

Question ID : 6009293726
Status : Answered
Chosen Option : 4

Q7 Prafafee sEar 4@ § Jvd ST A HY:
225, , 26.5, 30, 34.5
Ans X" 1235

/X 2.245
W 3.24
K 427

Question ID : 6009293719
Status : Answered
Chosen Option : 3

Q.8 In the following question below are given some statements followed by some
conclusions based on those statements. Taking the given statements to be true even if
they seem to be at variance from commonly known facts. Read all the conclusions and
then decide which of the given conclusion logically follows the given statements.

Statements:

I. All K are R.

Il. Some R are F.
Conclusions:

. Some F are K.
Il. Some R are not K.

Ans « 1. Neither conclusion follows
X 2. Only conclusion Il follows
x 3. Both conclusion I and Il follows

x 4. Only conclusion | follows

Question ID : 6009293718
Status : Answered
Chosen Option : 1
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Q9 Rrafafea # & i a1 3w 3mw e, Tt 3 Fhat & fiw & 6w 51 ads e Hear
2

<1

Question ID : 6009293717
Status : Answered
Chosen Option : 3

Q.10 germiL, M, N, O, P, Q, R &1 S 1 AYeré Y Forer 1 a2 §1 1§ st &Y et Y Averd warrer
AAZNAAE LI INF AT eRIAFAZI ORNAE M A 3NVF AT QA FA
21 P I AlETS Fao & e A F7 &1 Q FT AR P & 31t g §| eafaf@a da siaar
FYA TET T8 62

Ans X" 1 g P & Aers 108 A §, o R T S T Aers &1 Fer 219 Wl &Y FehelT §
K 20RACEPAHAE
W 3 RAACE SAHAE
X 4 L<N<M<0<Q<P<S <R3 AT 1 T 31T5ha & Aehel &

Question ID : 6009293732
Status : Answered
Chosen Option : 3
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Q1 sg=af@a A, B, C, D, E 3 F UF el A1 & IRa: 3 § A A1 & g 1 31 oforogm §
AftheT S0 e ¥ B 3t e A gl
B,EFUAA AT IR A, FHama doT§1 AR C A I RE s B & aAlw aAgi dor 1 I A,
D & fe o1 3T AoT e, A ¥ Yw g sfRromad R A Asg wFa o s A3 T2
Ans  of 1 ADBFCE
75 2. ADFCBE
/< 3. ADFBCE

75 4. ADBCFE

Question ID : 6009293729
Status : Answered
Chosen Option : 1

Q12 i3t sear ITphay et IPTY F oot F O HWAM?
SR HIPh:

Question ID : 6009293725
Status : Answered
Chosen Option : 4
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Q13 37 Rrerew 1 79w FY 3 Y 78 ¥ 3 TR ¥ e § O THR A gE0 98 H @A
wafta ¥

ACT:BFY:BAD:?
Ans X' 1.ICD

75 2.DcCl
/X 3.cD
o 4.col

Question ID : 6009293721
Status : Answered
Chosen Option : 4

Q14 A3 v 1T FHHIOT B TONT T F T T F T fhet &Y el H RER deeran aiRe?
9+3+6-6x2=30

s a-
xR+
Cx 3R+
S+ AR+

Question ID : 6009293730
Status : Answered
Chosen Option : 2

Q15 et 3 v afraT Y 3 T T §U T SATFT F T, “qw A AT & AT 7 B R R
39 Afe 1 39 AfFd & FAT WU 82

Question ID : 6009293715
Status : Answered
Chosen Option : 3
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Q.16 afx zdor =t 1€ 3T T T L, A T B =E ¥ BT @ 5w T & 7 veA aEE w1 owEw
Zoor wfafE (W =) e

e SR

e
PU56LP65
UP65PL56

o )

|
| 2eq1eauq
eclqdequ
O ——

e
| sa91asu9
oclq9doqu
—

G
| €9910cU9
oc 19¢909U
—

T ]
| ¢9949cU9
acli9c09uU
—

Question ID : 6009293734
Status : Not Answered
Chosen Option : --
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Q.17 Two statements are given followed by four conclusions I, II, IIT and IV. You have to consider these statements to be true,
even if they seem at variance from commonly known facts. Decide which of the given conclusions logically follow(s)
from the given statements.

Statements:
A. Some spoons are forks.
B. Some forks are mats.
Conclusions:
I No spoon is a mat.
1. Some mats are forks.

I, Some mats are spoons.
IV.  No fork is a spoon.

Ans X 1. Only either conclusion I and IV follows.
/< 2. Only conclusions I and III follow
« 3. Only conclusion IT and either conclusion I or III follow.

7< 4. Only conclusions IT and IV follow

Question ID : 6009293733
Status : Answered
Chosen Option : 3

Q.18 Venu, Sonia, Kamal, Ria and Aish are sitting on a bench. Sonia is sitting to the right of
Kamal , who is not sitting at extreme end of the bench. Ria is sitting in between Sonia
and Venu. Aish is sitting at extreme left. Who is to the right of Ria?

Ans X 1 Aish

( 2. Venu
K 3. Sonia
K 4. Kamal

Question ID : 6009293728
Status : Answered
Chosen Option : 2

Q19 Ry 372 457 IMYW 37 ST FY TEAT Y AT § N P, arEFearer 3 ardata @ g a ¥
fraa e frde iR aeheate 1Al @e W § 9] arellaie 7981 Ao Tha?

[ qrEhedia

5
AN

areftaie

Question ID : 6009293723
Status : Answered
Chosen Option : 2
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Q.20 Frrmfafae s@ar # Q@ Hi|

7D, 15H, 23L,
Ans X' 1.31Q

5 2.20P
W 3.31P
X 4.33Q

Question ID : 6009293720
Status : Answered
Chosen Option : 3

Section : English

Q.1 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No improvement’.

Books costing_ money and requiring the user to read them for the idea to spread.
Ans X" 1. No improvement

X 2. cost money and requiring
X 3. costing money and require

( 4. cost money and require

Question ID : 6009293742
Status : Not Answered
Chosen Option : --

Q.2 Choose the word that means the same as the given word.

Fatigue
Ans X 1. Fresh

« 2. Tiredness

75 3. Stable
x 4. Clumsy

Question ID : 6009293746
Status : Answered
Chosen Option : 2

Q.3 Out of all the alternatives given, select the word which closely fits the given
idiom/phrase.

Barking up the wrong tree

Ans x 1. To blame someone unfairly for a problem.
x 2. To ignore someone.
« 3. To be mistaken, to be looking for solutions in the wrong place.

X 4. Being treated the same unpleasant way you have treated others.

Question ID : 6009293748
Status : Answered
Chosen Option : 3
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Q.4 Which of the following is correctly spelt?
Ans “ 1. Reciprocity

x 2. Reciprrosity
x 3. Reciprosity

x 4. Riceprocity

Question ID : 6009293751
Status : Answered
Chosen Option : 1

Q.5 Select the word which means the same as the group of words given.

An official pardon for people who have been convicted of political offences.
Ans x 1. Exoneration

x 2. Liberation
x 3. Immunity

« 4. Amnesty

Question ID : 6009293754
Status : Answered
Chosen Option : 4

Q.6 A sentence has been given with a blank to be filled with an appropriate word. Choose
the correct alternative.

Your brother is intelligent than your father.
Ans X" 1. most

x 2. many
x 3. much
«4. more

Question ID : 6009293747
Status : Answered
Chosen Option : 4

Q.7 In the following question, some parts of the sentence may have errors. Select the
option that has the error. If the sentence has no error then select ‘No Error'.

In the ancient world, theories of the origin of Earth and the objects see in the sky were
certainly much less constrained.

Ans ( 1. of Earth and the objects see in the sky
X 2. In the ancient world, theories of the origin

x 3. were certainly much less constrained.

x 4. No Error

Question ID : 6009293736
Status : Answered
Chosen Option : 3
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Q.8 Identify the segment in the sentence which contains a grammatical error.

It is often said that the way to the man heart is through his stomach.
Ans ( 1. the man heart

X 2. Itis often said
X 3. that the way to

X 4. is through his stomach.

Question ID : 6009293738
Status : Answered
Chosen Option : 2

Q.9 Identify the segment of the sentence which contains a grammatical error.

Shall her flight get cancelled, your mother says she will send you a message.
Ans  of 1. Shall her flight

X 2. she will send you a message.
X 3. your mother says

x 4. get cancelled,

Question ID : 6009293739
Status : Answered
Chosen Option : 3

Q.10 In the following question, some parts of the sentence may have errors. Select the
option that has the error. If the sentence has no error then select ‘No Error'.

Fewer than one percent of the earth’s water is unsalted and available for human
consumption.

Ans X 1. for human consumption.

x 2. No Error

x 3. earth’s water is unsalted and available

( 4. Fewer than one percent of the

Question ID : 6009293737
Status : Answered
Chosen Option : 3

Q.11 Select the most appropriate option to fill in the blank.

The problem, at least for those holidaying in Gibraltar, is that neither of these hotels
a beach.

Ans X 1. having
X 2. have
o 3.has
25 4. had

Question ID : 6009293745
Status : Answered
Chosen Option : 2
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Q.12 Given below are four parts of a sentence which are jumbled. Pick the option that gives
their correct order to make a grammatically correct, meaningful sentence.

A. students were expected
B. studied in earlier classes

C. having reached higher classes
D. to know the formulas and principles

Ans X' 1. CDAB

W 2.cADB
/5 3.ACDB
75 4.ADBC

Question ID : 6009293743
Status : Answered
Chosen Option : 4

Q.13 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No improvement’.

He was one of most respected generals because of his care for the men and his record
as a fighter.

Ans K 1. the most respect generals

K 2. most respected general
K 3. No improvement

( 4. the most respected generals

Question ID : 6009293740
Status : Answered
Chosen Option : 1

Q.14 Select the word which means the same as the group of words given.

The ability to make good judgements and take quick decisions.
Ans x 1. Ineptness

K 2. Intuition

K 3. Perception

( 4. Acumen

Question ID : 6009293749
Status : Answered
Chosen Option : 4

Q.15 Identify the segment of the sentence which contains a grammatical error.

Startled, he looked around to locate the source of the sharp sound, but would not be
finding any.

Ans ( 1. but would not be finding any.
K 2. Startled, he looked around
K 3. to locate the source

K 4. of the sharp sound,

Question ID : 6009293735
Status : Answered
Chosen Option : 1
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Q.16 Arrange the jumbled sentences to make a meaningful paragraph.

A. Half the world’s population is now under lockdown orders.
B. As more information about the virus has become available, public advisories have
also shape shifted accordingly.

C. It is to help fight the Covid-19 contagion that has picked up fearful pace through the
month of March.

D. One such evolution has taken place on the question of masks.
Ans & 1 ACDB

75 2.ABCD
75 3.ADBC
o 4. ACBD

Question ID : 6009293744
Status : Answered
Chosen Option : 4

Q.17 Out of all the alternatives given, select the option which closely fits the given
idiom/phrase.

Bite off more than you can chew

Ans ( 1. To take on a project that you cannot finish.
K 2. Taking credit for someone else achievements.
K 3. Being treated the same unpleasant way you have treated others.

K 4. Something considered too insignificant to create an impact.

Question ID : 6009293750
Status : Answered
Chosen Option : 1

Q.18 Select the incorrectly spelt word.
Ans ( 1. Presceint

K 2. Diminutive

x 3. Tectonic

K 4. Spectacular

Question ID : 6009293753
Status : Answered
Chosen Option : 2

Q.19 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No improvement’.

Undercover officers were sent to gather information, and they gave evidence in court
from behind screens to protect their identities.

Ans X 1. to protecting their identities.

( 2. No improvement

K 3. for protecting his identities.

K 4. in protecting their identity.

Question ID : 6009293741
Status : Answered
Chosen Option : 2
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Q.20 Select the word which means the same as the group of words given.

A husband's (or wife's) provision for a spouse after separation or divorce;
maintenance.

Ans K 1. Patrimony
5 2. Remittance

x 3. Provision

o 4. Alimony

Question ID : 6009293752
Status : Answered
Chosen Option : 4
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